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Explain how oxidation
reactions cawn be useful to us.

Silver jewellery reacts with oxygen aud Compounds iu sparklers and fireworks react
discolours (it becomes “taruished”). with oxygen and release light energy.
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Methaue is an example of a fuel. The diagram below shows how its

atoms become rearranged when it is burned in oxygen.

Ethanol combustion releases euergy for Copper in a statue reacts to form a dull
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Use the diagram to help you write a word equation for this
reaction:
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Coal is au example of a uon-renewable fuel, but wind from windwmill is renewable. Write the phrase in the
venn diagram below to show whether they apply to renewable or non-renewable energy, or both.
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Choose from the following to complete the spaces below. Some are needed more than ouce.
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